2 dry + 3 dry + 5y = 11e-x y(0)=7, dy (0)=13 y(0.5) usig h = 0.25Amd dy = 2, then Let  $2\frac{d+}{d+} + 3 + 5y = 11e^{-x}$  $\frac{d+1}{1} = \frac{11e^{-x}-3x-5y}{1}$  $dy_{1} = t = f_1(x,y,t), y(0) = 7$  $\frac{d+1}{dx} = \frac{1}{2} \frac{1}{2} \frac{f_2(x,y,t)}{2}$ 2(0)=13  $J_{i+1} = Y_i + (\frac{1}{2}k_1^y + \frac{1}{2}k_2^y)h$ そい、 そ、+(シトキ+シトン)  $k_{i}^{y} = f_{i}(x_{i}, y_{i}, z_{i})$ 、そ1)

$$k_{1}^{y} = f_{1} (X_{i} + h, Y_{i} + k_{j}^{h}, t_{i} + k_{j}^{n})$$

$$k_{1}^{t} = f_{2} (X_{i}, Y_{i}, t_{i})$$

$$k_{1}^{z} = f_{2} (X_{i} + h, Y_{i} + k_{j}^{h})$$

$$\frac{x = 0}{k_{i}^{y}} = k_{i}^{z}$$

•

$$\begin{aligned} x_{0} = 0 , y_{0} = 7, \quad z_{0} = 13 \\ k_{1}^{y} &= f_{1} (x_{0}, y_{0}, t_{0}) \\ &= f_{1} (0, 7, 13) \\ &= 13 \\ k_{1}^{z} &= f_{2} (x_{0}, y_{0}, t_{0}) \\ &= f_{2} (0, 7, 13) \\ &= \frac{11e^{-0} - 3(13) - 5(7)}{2} \\ &= -31 \cdot 5 \\ k_{2}^{y} &= f_{1} (x_{0} + h, y_{0} + k_{1}^{y}h, z_{0} + k_{1}^{z}h) \\ &= f_{1} (0 + 0 \cdot 25, 7 + 13 \times 0 \cdot 25) \\ &= f_{1} (0 \cdot 25, 10 \cdot 25, 5 - 125) \\ &= 5 \cdot 125 \\ k_{2}^{z} &= f_{2} (x_{0} + h, y_{0} + k_{1}^{y}h, z_{0} + k_{1}^{z}h) \end{aligned}$$

$$=f_{2}(0.25, [0.25, 5.125])$$

$$=\frac{11e^{-0.25} - 3(5.125) - 5(10.25)}{2}$$

$$= -29.03$$

$$y_{1} = y_{0} + (\frac{1}{2}k_{1}^{2} + \frac{1}{2}k_{2}^{2})h$$

$$= 7 + (\frac{1}{2}(13) + \frac{1}{2}(5.125)) \times 0.25$$

$$= 9.266$$

$$z_{1} = z_{1} + (\frac{1}{2}k_{1}^{2} + \frac{1}{2}k_{2}^{2})h$$

$$= 13 + (\frac{1}{2}(-31.5) + \frac{1}{2}(-29.03))$$

$$= 5.434$$

$$x_{0.15}$$

$$k_{1}^{3} = f_{1}(x_{11}, y_{11}, t_{1})$$

$$= f_{1}(0.25, 9.266, 5.434)$$

$$k_{1}^{3} = f_{2}(x_{11}, y_{11}, t_{1})$$

$$= f_{2}(0.25, 9.266, 5.434)$$

$$= -27.03 (not readed)$$